AN ROINN OIDEACHAIS.
(Department of Education).

. LEAVING CERTIFICATE EXAMINATION, 1946,

MATHEMATICS—Algebra—Pass.
WEDNESDAY, 12th JUNE—Morxiye, 10 1o 12.30.

Seven questions may be answered,

. Mathematical Tables may be obtained from the Superintendent.

1. Solve the equation
' 20150,
' Find all the values of y which satisfy the equation
E 23— 8y} — 3y 1By —15-0.
(28 marks.]
2. Express in its simplest surd form 1/ (33—124/6).

Simplify [8+41/(33—12¢/ fi}]_% and find its value correct to three
significant figures,

X

[28 marks.]

. 3. Find the values of z and y which satisfy the simultaneous
equations
a4yt 10z -dy L 4—0),
r—y—8=0.
[28 marks.]

- 4. (i) Find all the factors for
' o428 3t Dp-L6,
(ii) If
. 42t 4o B0 L aw b= (pr-f-qu 1-r)?,
a, b, p, q, r are independent of x, determine the values of

® coefficients and factorise the expression on the left-hand side
completely.
i [28 marks.]
po. If
k 3xjat+yfb—4zfc—=0
Shex—Teay+2abz—0,
prove that
zla=yb=z]c
ind, as a deduction from that, show that
f (a-+b-t-6)(az+-by +62) = (z-+y-+-2) (a2 -9,

[28 marks.]
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6. ABC is a right-angled triangle, the angle at C being a right
angle. The perimeter of the triangle is 112 in. and the hypotenuse
AB is 2 in. longer than the side AC. Find the sides of the triangle
and the length of the perpendicular from (! to AB.

28 marks. |

7. (i) Explain clearly why we write

a'=1 and a-*=1 /a?.
(ii) Pind the value of 2 in each of the following cases :
(@) log.(f)=2; (b) logw=1 (c) logd=—% (d) 2°71=5.

[29 marks.

8. (i) What is the nth term in each of these series :

(@) I4+-834-6LT4 . ..,
R e e = R
(6) T x3F3XB4-BRTAT RIS . . .4

(i) The first term in an arithmetical progression is —7 and
the sum of the first 22 terms is zero. Find the series. How many
terms of the series must he taken so that their sum is 16 ?

[29 marks.]

- 9. (i) Find, from first principles, the sum of n terms of the series
a>a*ratt ot L L.,

(ii) "What is the least number of terms of the series
ST R S

which must be taken so that their sum may be greater than 16499 7

[29 marks.]|
10. Using the same axes and scales draw graphs, between a— 2
and z=--4, of the functions
2x+1)(z—3) and a(zf1)(x—3).

For what values of  are the two funcfions eqﬁal ! ¥or what values
of z in the given range does the second function exceed the first
algebraically

[29 marks.|




